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      BSEH MARKING SCHEME (MARCH 2024) 

CLASS 12TH 

ACCOUNTANCY (CODE: D) 

 

Q. 

No. 

EXPECTED ANSWERS DISTRIBUT

ION OF 

MARKS 

 Part- A 
 

भाग-अ 
 

(Accounting for  Partnership firms and Companies) 
 

(साझेदारी फर्मों और कंपनियों के लिए िेखांकि) 
 

 

1. (C)Equally 

(स) समान अनुपात में 
1 

2. (C) 9:5 

(स) 9:5 

1 

3. (A) Debited to revaluation account 

(अ) पुनममूल्ाांकन खाते से डेबिट कक्ा ग्ा 
1 

4. Partnership Deed 

साझेदारी सांलेख 

1 

5. personal liabilities of that partner 

उस साझेदार के व््क्ततगत दाय्त्त्वों को 
1 

6. Profit & Loss Account 

लाभ – हायन खाता  
1 

7. (D) (A) is true but (R) is false. 

(द) (A) सत्् है परन्तु (R) असत्् हैं | 

1 

8. (A) Both (A) and (R) are true and (R) is the correct explanation of statement (A). 

(अ) (A) तथा (R) दोनों सत्् हैं और (R) कथन (A) की सही व््ाख््ा है | 
1 

9. 1 Month 

1 माह 

1 

10. Capital 

पमूँजीगत 
1 

11. These debentures are not freely transferable. For their transfer, a properly filled transfer 

deed is necessary. Interest and principal on these debentures are paid only to those 

persons whose names are registered in the company's register. 

 

्ह ऋणपत्र स्वतांत्र रूप से हस्ताांतरणी् नहीां होते। इनके हस्ताांतरण के ललए उचित रूप 
से भरा ग्ा हस्ताांतरण प्रलेख (Transfer Deed) आवश््क है। इन ऋणपत्रों पर ब््ाज तथा 
ममलधन का भुगतान उन्हीां व््क्तत्ों को कक्ा जाता है क्जनका नाम कम्पनी के रक्जस्टर 
में दजू है। 

2 
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12. Statement showing calculation of opening capitals 

Particulars A 

₹ 

B 

₹ 

Closing Capital 

Add: Drawings already credited 

 

Less: Profit already credited 

Opening capitals or capital in the beginning 

Interest on Capital @ 10% p.a.  

48000 

 8000 

56000 

16000 

40000 

  4000 

36000 

12000 

48000 

16000 

32000 

  3200 

 

OR 

(a) Debit of Current A/C 

(b) Credit of Current A/C 

(c) Credit of Capital A/C 

(d) Credit of Current A/C 

 

(अ) िालम खाते के डेबिट में  

(ि) िालम खाते के के्रडडट में  

(स) पमांजी खाते के के्रडडट में  

(द) िालम खाते के के्रडडट में  

 

 

 

 

½ 

 

½ 

½ 

½ 

 

 

½ 

½ 

½ 

½ 

 

 

13. Capitalised value of average profit = average profit X             100 

                                                                                      Normal Rate Return 

                                                   =  225000 X 100  = 1500000 

                                                                          15 

Capital Employed =   600000 + 400000 = 1000000 

Goodwill = Capitalised value of average profit – capital employed 

                =   1500000  - 1000000 

 

                            =   ₹ 500000 

 

औसत लाभ का पमांजीकृत ममल् = औसत लाभ X       100 

                                         सामान्् दर ररटन ू

                            = 225000  X   100   = 1500000 

                                                 15 

लगाई गई पमांजी = 600000 + 400000 =1000000 

ख््ायत = औसत लाभ का पमांजीकृत ममल् – यन्ोक्जत पमांजी 
                  = 1500000 – 1000000 

                  = ₹ 500000 

 
OR 

Any two from the following: 
 

, (i) At the time of change in the profit-sharing ratio of the existing partners, 
 
(ii) At the time of winding up of the firm when the business is being sold as a going 
concern. 
 
(iii) At the time of amalgamation of partnership firms. 
 

 

 

½ 

 

½ 

 

½ 

 

½ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1+1=2 
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यनम्न में से कोई दो : 
 

(i) वतूमान साझेदारों के लाभ-ववभाजन अनपुात में पररवतून के सम्, 

 

(ii) फमू के समापन के सम् जि व््वसा् एक िालम व््वसा् के रूप में िेिा जा रहा 
हो। 

 

(iii) साझदेारी फमों के सांववलल्न (Amalgamation) के सम्। 

   

14. 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

15. (i) On the basis of time: That is, on the basis of last year's profit or average profit of last 

few years. 

(ii) On the basis of sale. 

 

(i) सम् के आधार पर : अथाूत ्वपछले वर्ू के लाभ अथवा वपछले कुछ वर्ों के औसत 
लाभ के आधार पर  

(ii) ववक्र् के आधार पर । 

1+1=2 
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16. 

 
 

Capital reserve = net assets – purchase consideration 

                         = 160000 – 150000 = ₹ 10000 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

1 

 

 

 

 

1 

 

17. Journal 

Date Particulars L.F. Dr. ₹ Cr. ₹ 

(A) Cash A/C                                                      Dr. 

       To Realisation A/C 

(being 30% relised from drawer) 

 

Realisation A/C                                             Dr. 

       To Bank A/C 

( Being full amount paid to bank ) 

   6000 

 

 

 

20000 

    

   6000 

 

 

 

  20000 

(B) A’s Capital A/C                                              Dr. 

B’s Capital A/C                                              Dr. 

      To Realisation A/C 

(being share taken by A and B ) 

       800 

      400 

 

 

  1200 

(C) Cash A/C                                                        Dr. 

    To Realisation A/C 

(being 70% realized from debtors) 

 280000  

280000 

 

 

 

 

½ 

 

 

½ 

 

 

 

 

1 

 

 

 

1 

18. Journal 

 

Date Particulars L.F

. 

Dr. ₹ Cr. ₹ 

(i) Machinery A/C                                             Dr. 

       To Vendor A/C 

(being machinery purchase from vendor) 

 

Vendor A/C                                                 Dr. 

       To 13% Debenture A/C 

(Being 16720 12% debenture of ₹ 100 issued at 

par) 

 1672000 

 

 

 

1672000 

    

1672000 

 

 

 

1672000 

(ii) Vendor A/C                                                 Dr. 

      To 13% Debenture A/C 

      To Security Premium A/C 

 1672000 

       

 

1520000 

  152000 

 

 

 

 

 

½ 

 

 

 

½ 

 

 

 

 

1 
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(being 15200 13% Debenture of ₹ 1 each issued at 

a premium of 10% [1672000 ÷ 110 = 15200 

Debenture] ) 

 

(iii) 

 

Vendor A/C                                                 Dr. 

Discount on issue of Debenture A/C          Dr. 

    To 13% Debenture A/C 

(being 17600 13% debenture of ₹ 100 each issued 

at a discount of 5%[ 1672000 ÷ 95 = 17600 

Debenture] ) 

  

1672000 

    88000 

 

 

 

1760000 

 

 

 

 

 

 

 

1 

19.  

 
 

 OR 

Any three of the following 

 

Basis Charge Against Profit Appropriation out of Profit 

Nature It indicates the expenses which 

will be deducted from the profits 

while determining the net profit or 

loss. 

It indicates the distribution of net 

profit among different heads. 

Accounting It is debited in the Profit and Loss 

Account. 

It is debited in the Profit and Loss 

Appropriation Account. 

Necessary 

or not 

Even in case of loss, it is 

necessary to charge it from 

profits. 

Appropriations are made only 

when there is profit. 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

1+1+1=3 
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Example Interest on partner's loan and rent 

paid to partner. 

Interest on capital, salary of 

partners etc. 

 

 

 

 

 

निम्ि र्में से कोई तीि 

आधार लाभों पर प्रभार  लाभों का िूँटवारा  

प्रकृयत ्ह उन व्््ों को समचित करता है 
जो शुद्ध लाभ ्ा हायन ज्ञात 
करते सम् लाभों में से घटाए 
जाएूँगे । 

्ह ववलभन्न शीर्कूों में शदु्ध लाभ 
के िूँटवारे को समचित करता है। 

 

लेखाांकन इसे लाभ-हायन खाते में डेबिट 
कक्ा जाता है। 

इसे लाभ-हायन यन्ोजन खाते में 
डेबिट कक्ा जाता है। 

 

आवश््क 
अथवा नहीां 

हायन होने की दशा में भी इसे 
लाभों में से िाजू करना आवश््क 
है। 

यन्ोजन (Appropriations) तभी 
ककए जाते हैं जि लाभ हो । 

 

उदाहरण साझेदारों के ऋण पर ब््ाज एवां 
साझेदार को दद्ा ग्ा ककरा्ा । 

पमूँजी पर ब््ाज, साझदेारों का वेतन 
इत््ादद । 

 

 

20.  

Journal 

Date  Particulars L.F. Dr. ₹ Cr. ₹ 

2017 

12 

June 

(i) 

 

 

A’s Capital A/c                                      Dr, 

C’s Capital A/C                                     Dr. 

      To B’s Capital A/C 

(being B’s share of goodwill adjusted into the 

Capital A/Cs of A and C in their gaining ratio 

i.e. 3:1) 

  

 

 15000 

   5000 

 

 

 

 

 20000 

(ii) Profit and Loss suspense A/C               Dr. 

      To B’s Capital A/C 

(being share of profit up to June 12, 2017) 

 10000  

10000 

  

Working Note: 

(i) B’s share of Goodwill =₹ 60000 x 2/6 = ₹ 20000. It will be debited to the capital 

accounts of A and C in their gaining ratio, i.e. 3:1. 

 

(ii) Number of days from March 31 to June 12 = 73 days. 

  B’s share of profit = 150000 x 73/365 x 2/6 = ₹ 10000. 
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21.  

 
 

Working Note: 

Average Profit = 40000 + 15000 + 35000  

                                             3 

                        = 90000  

                               3 

                        = ₹ 30000 

 

Goodwill = Average Profit x No. of year purchase = 30000 x 2 =  ₹ 60000 

 

 C’s share of Goodwill = 60000 x 1/5 = ₹ 12000 

OR 

 

When a new partner joins the firm, it is very important to revalue the assets and liabilities 

of the firm to ensure their real and fair values. This is done because the value of assets 

and liabilities may increase or decrease and as a result their corresponding figures on the 

old balance sheet may be either understated or overstated. At best, it may also be possible 

that some assets and liabilities have been left unrecorded. 

 

Thus to record the increase and decrease in the market value of assets and liabilities, 

revaluation account is created and any profit or loss associated with this increase or 

decrease is distributed among the old partners of the firm. 

 

(i) Revaluation A/c – Dr.  

           To liabilities  

(Being liabilities increases) 

 

 

 

 

 

2 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

           1 

 

 

 

 

 

 

 

 

 

 

 

2 

 

 

 

 

 

 

          1 
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(ii) Revaluation A/c – Dr.  

           To Assets A/c  

(Being Assets Decreased) 

 

(iii) Revalution A/c – Dr.  

           To Partner's Capital A/c  

        ( in case of Profit)  

       Partner's Cap. A/c - Dr.  

           To Revaluation  

          ( in case of loss) 

 

जि एक न्ा भागीदार फमू में शालमल होता है, तो फमू की सांपवि और देनदारर्ों को 
उसके वास्तववक और उचित ममल्ों को सुयनक्श्ित करने के ललए पुनममलू्ाांकन करना 
िहुत महत्वपमणू है। ऐसा इसललए कक्ा जाता है त्ोंकक सांपवि और दे्ता के ममल् में 
वदृ्चध ्ा कमी हो सकती है और पररणामस्वरूप उनके अनुरूप आांकडे परुानी िैलेंस शीट 
को ्ा तो कम ्ा ज््ादा िता्ा जा सकता है। अचधक-से- अचधक ्ह भी सांभव हो 
सकता है कक कुछ सांपवि और देनदारर्ों को अललखखत छोड दद्ा ग्ा हो । 
 

इस प्रकार पररसांपवि्ों और देनदारर्ों के िाजार ममल् में वदृ्चध और कमी को ररकॉड ू
करने के ललए, पनुममूल्ाांकन खाता िना्ा जाता है और इस वदृ्चध ्ा कमी से जुडे ककसी 
भी लाभ ्ा हायन को फमू के परुाने भागीदारों के िीि ववतररत कक्ा जाता है। 
 

(i) Revaluation A/c – Dr.  

           To liabilities  

(Being liabilities increases) 

 

(ii) Revaluation A/c – Dr.  

           To Assets A/c  

(Being Assets Decreased) 

 

(iii) Revalution A/c – Dr.  

           To Partner's Capital A/c  

        ( in case of Profit)  

       Partner's Cap. A/c - Dr.  

           To Revaluation  

          ( in case of loss) 

 

           1 

 

 

 

½ 

 

 

 

½ 
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22  

 

 
 

 

OR 

Necessary expenses incurred at the time of establishment of the company are called initial 

expenses. These include the following expenses: 

 

 

 

 

 

 

 

 

 

½ 

 

 

 

 

1 

 

 

 

 

 

 

 

½ 

 

 

 

 

 

½ 

 

 

 

 

 

1 

 

 

 

 

1 

 

 

 

 

 

 

½ 

 

 

 

 

1+4=5 
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I. Expenses of preparing various documents for registration of the company and getting 

these documents printed. 

 

II. Stamp duty and registration fees on these documents. 

 

III. Duty paid on authorized capital. 

 

IV. Cost of initial books of the company. 

 

V. If the company is formed to purchase an ongoing business, the fees of the accountant 

or valuer who evaluates the assets and liabilities of the business. 

 

कम्पनी की स्थापना के सम् ककए गए आवश््क खिों को प्रारक्म्भक व््् कहते हैं। 
इनमें यनम्नललखखत व््् शालमल हैं: 
 

I. कम्पनी के रक्जस्रेशन के ललए ववलभन्न प्रलेखों को तै्ार करवाने तथा इन प्रलेखों को 
छपवाने का व््् ।  

 

II. इन प्रलेखों पर स्टाम्प ड््मटी तथा रक्जस्रेशन की फीस । 
 

III. अचधकृत पमूँजी (Authorised Capital) पर िुकाई जाने वाली ड््मटी । 
 

IV. कम्पनी की प्रारक्म्भक पुस्तकों की लागत । 
 

V. ्दद कम्पनी का यनमाूण ककसी िालम व््वसा् को क्र् करने के ललए कक्ा जाए 
व््वसा् की सम्पवि्ों तथा दाय्त्वों का ममल्ाांकन करने वाले एकाउन्टेन्ट ्ा 
ममल्ाांकनकताू (Valuer) की फीस । 

 

 

 

 

 

 

 

 

 

 

 

23 

Part – B 
भाग-ब 
(Analysis of Financial statements)                         

वित्तीय वििरणों का विश्िषेण 
 

 

 

 

 

 

Any one of the following: 

 

(i) This statement reconciles the income and expenses of the entity for a particular period 

to determine the profit or loss incurred during that period. 

 

(ii) It is prepared for a particular period and not on a particular date. 

 

(iii) It is made for a previous period, hence it is a historical form. 

 

यनम्न में से कोई एक:  

 

 

 

 

 

 

 

 

 

 

 

1 
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(i) ्ह वववरण ककसी ववशरे् अवचध के दौरान हुए लाभ ्ा हायन का यनधाूरण करने के 
ललए सांस्था की उस अवचध की आ्ों एवां व्््ों का लमलान करता है। 
 

(ii) ्ह एक ववशेर् अवचध के ललए तै् ार कक्ा जाता है न कक ककसी ववशेर् यतचथ पर। 
 

(iii) ्ह वपछली अवचध के ललए िना्ा जाता है अतः ्ह एक ऐयतहालसक प्रपत्र है। 

24. (D)All of these 

(द) सभी 
1 

25. Cash and Cash Equivalent 

रोकड एवां रोकड तुल् 

1 

26. (A) Both (A) and (R) are true and (R) is the correct explanation of statement (A). 

(अ) (A) तथा (R) दोनों सत्् हैं और (R) कथन (A) की सही व््ाख््ा है | 
1 

27. (C) Intangible assets 

(स) अममतू सम्पवि 

1 

28. Any two of the following: 

(i) Do not reflect changes in Price Level 

(ii) Influence by personal Judgement  

(iii) Based on Accounting Concepts and Conventions 

(iv) Omission of Qualitative Information 

(v) Affected by window dressing 

 

यनम्नललखखत में से कोई दो: 
(i) ममल् स्तर में पररवतून को प्रकट ना करना  

(ii) व््क्ततगत यनणू् द्वारा प्रभाववत 

(iii) लेखाांकन अवधारणाओां और परम्पराओां पर आधाररत 

(iv) गुणात्मक जानकारी का अभाव 

(v) झमठे ददखावो से प्रभाववत 

1+1=2 

29.  

Inventory Turnover Ratio=  Cost of Revenue from operation  

                                                         Average stock 

 

 8 =          200000   

          Average Inventary 

 

Average Inventory = 200000  = ₹ 25000 

                                      8 

 

Average Inventory = 25,000 = Opening Inventory + Closing Inventory 

                                                                                 2 

 

Opening Inventory + Closing Inventory = 25000 x 2 = ₹ 50,000 

 

Let the closing Inventory = x 

 

then opening Inventory will be = x + 1.5x = 2.5x 

 

Hence, 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

 

1 
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x + 2.5x = 5,0000 

 

3.5x = 50,000 

 

X = 50,000  

           3.5  

     = 14,286 

 

Closing Inventory = 14,286 

 

Opening Inventory = 14,286 x 2.5 

                                = 35,714 

 

OR 

 

Any three of the following: 

(i) Identifying the weak areas of the business that require greater attention; 

 

  (ii) To thoroughly analyze the liquidity, solvency, activity and profitability of the 

business; 

 

(iii) Cross-sectional analysis i.e. providing information to compare the ratios of a firm 

with the ratios of some selected firms in the same industry; 

 

(iv) Time-Series Analysis i.e. providing information to compare the current ratios of a 

firm with the past ratios of the same firm; 

 

(V) To provide information for forecasting and planning for the future. 

 

यनम्न में से कोई तीन : 
(i) व््वसा् के ऐसे कमजोर स्थानों का पता लगाना क्जन पर ज््ादा ध््ान देने की 
जरूरत है; 

 

 (ii) व््वसा् की तरलता (Liquidity), शोधन क्षमता (Solvency), कक्र्ाशीलता (Activity) 

तथा लाभप्रदता (Profitability) का गहन ववश्लेर्ण करना;  
 

(iii) क्रॉस-वगी् ववश्लेर्ण (Cross-Sectional Analysis) अथाूत ्ककसी फमू के अनुपातों की 
तुलना उसी उद््ोग की कुछ िनुी हुई फमों के अनुपातों से करने के ललए समिना प्रदान 
करना;  
 

(iv) सम्-श्रेणी ववश्लरे्ण (Time - Series Analysis) अथाूत ्ककसी फमू के वतूमान अनुपातों 
की इसी फमू के वपछले अनपुातों से तुलना करने के ललए समिना प्रदान करना; 
 

(v) पमवाूनुमान लगाने एवां भववष्् के ललए ्ोजना िनाने के ललए समिना प्रदान करना 

 

 

 

 

 

½ 

 

 

 

 

½ 

 

 

 

 

 

 

 

1+1+1=3 
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30.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1+1/2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

½ 

 

 

 



14 
 

  

 
 

OR 

 

any five of the following 

 

(1) Not Suitable for Judging the Liquidity: It does not present a true picture of the 

liquidity of a firm because liquidity position does not depend on cash alone. Liquidity 

also depends on assets that can be easily converted into cash. Omitting these assets 

interferes with providing accurate information about a firm's ability to pay its liabilities as 

they fall due. 

 

(2) Possibility of window-dressing: The possibility of window-dressing in the cash 

position of a firm is greater than in its working capital position. Clever changes can be 

made in the cash position by postponing purchases and other payments before the date of 

preparation of the balance sheet and by promptly recovering money from debtors. 

Therefore, the fund flow statement presents a more realistic picture than the cash flow 

statement. 

 

(3) Ignores non cash transactions (it ignores non cash transactions) 

Non-cash transactions are excluded while preparing the statement. Such as purchase of 

assets in exchange for shares or debentures, conversion of debentures into shares, issue of 

bonus shares etc. Therefore, the true position of a business cannot be decided from the 

cash flow statement. 

 

  (4) It ignores the accrual concept of accounting: It is made on cash basis, hence leaves 

out 'Accrual basis', a fundamental basis of accounting. concept 'earnings' 

 

(5) No Substitute for an Income Statement: Cash flow statement is not a substitute for the 

income statement because the income statement is prepared on the basis of both cash and 

non-cash items. Therefore, net cash flow does not mean net income of the business. 

 

(6) Historical in Nature: Cash flow statement is prepared on the basis of comparative 

position statement of last two years. Therefore, the information provided by it is of 

historical nature. The information provided by it will be more useful if it is accompanied 

by a Projected Cash Flow Statement. 
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यनम्न में से कोई पाांि  

 

(1) तरलता का माप करने के ललए उप्ुतत नहीां (Not Suitable for Judging the Liquidity) 

: ्ह ककसी फमू की तरलता (liquidity) का सच्िा चित्र प्रस्तुत नहीां करता है त्ोंकक 
तरलता की क्स्थयत अकेले रोकड पर ही यनभरू नहीां होती है। तरलता उन सम्पवि्ों पर 
भी यनभूर करती है जो आसानी से रोकड में पररवयततू की जा सकती हैं। इन सम्पवि्ों 
को छोड देने से ककसी फमू के दाय्त्वों को उनके दे् होते ही भुगतान करने की क्षमता 
की सही समिना प्रदान करने में िाधा पडती है। 
 

(2) ऊपरी ददखावट की सम्भावना (Possibility of Window-dressing) : ककसी फमू की रोकड 
क्स्थयत में ऊपरी ददखावट (Window-dressing) की सम्भावना इसकी का्ूशील पमूँजी की 
क्स्थयत की तुलना में अचधक है। क्स्थयत वववरण िनाने की यतचथ से पहले क्र्ों को एवां 
अन्् भुगतानों को स्थचगत करके तथा देनदारों से शीघ्रतापमवूक रुप्ा वसमल करके रोकड 
की क्स्थयत में ितुराई से पररवतून कक्ा जा सकता है। अतः रोकड प्रवाह वववरण की 
तुलना में कोर् प्रवाह वववरण अचधक वास्तववक चित्र प्रस्तुत करता  है। 
 

(3 ) गैर नकदी व्वहारो की अवहेलना (it ignores  non cash transactions ) 

वववरण तै्ार करते सम् गैर-रोकड व््वहारों को छोड दद्ा जाता है। जैसे अांशों अथवा 
ऋणपत्रों के िदले सम्पवि्ों का क्र् ऋणपत्रों का अांशों में पररवतनू, िोनस अांशों का 
यनगूमन आदद। अतः रोकड प्रवाह वववरण से ककसी व््वसा् की सही क्स्थयत का यनणू् 
नहीां कक्ा जा सकता। 
 

 (4) लेखाांकन के उपाजनू आधार की अवहेलना (It ignores the accrual concept of 

accounting) : ्ह रोकड आधार पर िना्ा जाता है अतः लेखाांकन की एक ममलभमत 
आधार' (Accrual basis) को छोड देता है। अवधारणा 'उपाजून 

 

(5) आ् वववरण का स्थानापन्न नहीां (No Substitute for an Income Statement) : रोकड 
प्रवाह वववरण आ् वववरण का स्थानापन्न नहीां है त्ोंकक आ् वववरण नकदी एवां गैर-
नकदी दोनों प्रकार की मदों के आधार पर तै् ार कक्ा जाता है। अतः शुद्ध रोकड प्रवाह 
का अथू व््वसा् की शुद्ध आ् नहीां है। 
 

(6) ऐयतहालसक प्रकृयत (Historical in Nature) : रोकड प्रवाह वववरण वपछले दो वर्ों के 
तुलनात्मक क्स्थयत वववरण के आधार पर तै्ार कक्ा जाता है। अतः इसके द्वारा प्रदान 
की गई समिना ऐयतहालसक प्रकृयत की होती है। ्दद इसके साथ एक यन्ोक्जत रोकड 
प्रवाह वववरण (Projected Cash Flow Statement) सांलग्न हो तो इसके द्वारा प्रदान की गई 
समिना अचधक उप्ोगी होगी 
 

                                                  Part – B 

(Computerised Accounting) 
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23. Data processing starts with the data in its raw form and converts it into a more readable 

format (graphs, documents, etc.), giving it the form it needs to be interpreted by 

computers and used by employees throughout the organization. And reference is given. 

 

डेटा प्रोसेलसांग अपने कच्िे रूप में डेटा के साथ शुरू होती है और इसे एक अचधक पठनी् 
प्रारूप (ग्राफ, दस्तावजे, आदद) में पररवयततू करती है, क्जससे इसे कां प््मटर द्वारा व््ाख््ा 
ककए जाने और पमरे सांगठन में कमूिारर्ों द्वारा उप्ोग ककए जाने के ललए आवश््क 
रूप और सांदभू दद्ा जाता है। 

1 

24. Cell Tip 

सेल दटप 

1 

25. (C) [Home] 

(स) [होम] 
1 

26. (A) SUM and AVERAGE 

(अ) ्ोग और औसत 

1 

27. (B) Financial  

(ि) वविी् 

1 

28. The points to be considered before making investment in a database: (any two) 

(i) What all data is to be stored in the database? 

(ii) Who will capture or modify the data, and how frequently the data will be modified? 

(iii) Who will be using the database, and what all tasks will they perform? 

(iv) Will the database (backend) be used by any other frontend application? 

(v) Will access to database be given over LAN/ Internet, and for what purposes? 

(vi) What level of hardware and operating system is available. 

 

डेटािेस में यनवेश करने से पहले वविार करने ्ोग्् बिांद:ु (कोई दो) 
(i) डेटािेस में कौन सा डेटा सांग्रहीत कक्ा जाना है? 

(ii) डेटा को कौन कैप्िर करेगा ्ा सांशोचधत करेगा, और डेटा को ककतनी िार सांशोचधत 
कक्ा जाएगा? 

(iii) डेटािेस का उप्ोग कौन करेगा, और वे कौन से का्ू करेंगे? 

(iv) त्ा डेटािेस (िकैएांड) का उप्ोग ककसी अन्् फ्रां टएांड एक्प्लकेशन द्वारा कक्ा 
जाएगा? 

(v) त्ा डेटािेस तक पहुांि LAN/इांटरनटे पर दी जाएगी, और ककस उद्देश्् के ललए? 

(vi) ककस स्तर का हाडवूे् र और ऑपरेदटांग लसस्टम उपलब्ध है। 

1+1=2 

29. Features of computerized accounting system: (any three with correct explaination) 

(i) Simple and integrated. 

(ii) Transparency and control. 

(iii) Accuracy and speed. 

(iv) Scalability. 

(v) Reliability. 

 

कम्प््मटरीकृत लेखा प्रणाली की ववशेर्ताएां: (कोई तीन सही व््ाख््ा के साथ) 
(i) सरल और एकीकृत। 
(ii) पारदलशूता और यन्ांत्रण। 
(iii) सटीकता और गयत। 

1+1+1=3 

 

½ marks for 

correct point 

and ½ marks 

for correct 

explaination 
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(iv) स्केलेबिललटी। 
(v) ववश्वसनी्ता। 
 

OR 

 

(1) Microsoft Excel for powerful data crunching and large data sets 

 

(2) Google Sheets for spreadsheet collaboration 

 

(3) LibreOffice Calc for a free, native spreadsheet app 

 

(4) Smartsheet for project management and other non-spreadsheet tasks 

 

(5) Click to integrate the spreadsheet into shared documents. 

 

(6) Zoho Sheet for a free, feature-rich solution 

 

(7) EtherCalc for creating collaborative spreadsheets without an account 

 

(8) Airtable for database management. 

 

(1) शक्ततशाली डेटा क्रां चिांग और िडे डेटा सटे के ललए Microsoft Excel 

 

(2) स्प्रेडशीट सह्ोग के ललए Google पत्रक 

 

(3) ललब्रे ऑकफस कैलक एक मुफ्त, देशी स्प्रेडशीट ऐप के ललए 

 

(4) परर्ोजना प्रिांधन और अन्् गैर-स्प्रेडशीट का्ों के ललए स्माटूशीट 

 

(5) साझा दस्तावेजों में स्प्रैडशीट को एकीकृत करने के ललए क्तलक करें। 
 

(6) जोहो शीट मुफ्त, सुववधा सांपन्न समाधान के ललए 

 

(7) बिना खाते के सह्ोगी स्प्रैडशीट िनाने के ललए EtherCalc 

 

(8) डेटािेस प्रिांधन के ललए ए्रटेिल । 

 

 

 

 

 

 

½ x6 =3 

30. Two basic methods of charging depreciation are: 

Straight line method: This method calculates fixed amount of depreciation every year 

which is 

calculated keeping in view the useful life of assets and its salvage value at the end of its 

useful life. 

Written down value method: This method uses current book value of the asset for 

computing the 

amount of depreciation for the next period. It is also known as declining balance method. 

Differences: 

1. Equal amount of depreciation is charged in straight line method. Amount of 

depreciation 

goes on decreasing every year in written down value method. 

2. Depreciation is charged on original cost in straight line method. The amount is 

calculated 

 

 

 

 

2 

 

 

 

+ 

 

1+1+1=3 
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on the book value every year. 

3. In straight line method the value of asset can come to zero but in written down value 

method this can never be zero. 

4. Generally rate of depreciation is low in case of straight line method but it is kept high 

in 

case of written down value method. 

5. It is suitable for assets in which repair charges are less and the possibility of 

obsolescence is less. It is suitable for the assets which become obsolete due to changes in 

technology 

 

ममल्ह्रास वसमलने की दो िुयन्ादी ववचध्ाूँ हैं: 
सीधी रेखा ववचध: ्ह ववचध हर साल ममल्ह्रास की यनक्श्ित रालश की गणना करती है 

पररसांपवि्ों के उप्ोगी जीवन और उसके उप्ोगी जीवन के अांत में उसके ििाव ममल् 
को ध््ान में रखते हुए गणना की जाती है। 
ललखखत ममल् ववचध: ्ह ववचध गणना के ललए पररसांपवि के वतूमान िही ममल् का 
उप्ोग करती है 

अगली अवचध के ललए ममल्ह्रास की रालश. इसे घटती सांतुलन ववचध के रूप में भी जाना 
जाता है। 
अांतर: 
1. सीधी रेखा ववचध में ममल्ह्रास की समान रालश ली जाती है। ममल्ह्रास की रालश 

ललखखत ममल् पद्धयत में प्रत््के वर्ू घटता जाता है। 
2. ममल्ह्रास सीधी रेखा ववचध से ममल लागत पर लगा्ा जाता है। रालश की गणना की 
जाती है 

हर साल िुक वलै्म पर. 
3. सीधी रेखा ववचध में सांपवि का ममल् शमन्् पर आ सकता है लेककन ललखखत ममल् में 
ववचध ्ह कभी भी शमन्् नहीां हो सकती। 
4. सामान््तः सीधी रेखा ववचध में ममल्ह्रास की दर कम होती है लेककन इसे उच्ि रखा 
जाता है 

ललखखत ममल् ववचध का मामला। 
5. ्ह उन पररसांपवि्ों के ललए उप्ुतत है क्जनमें मरम्मत शुलक कम है और अप्रिलन 
की सांभावना कम है। ्ह उन पररसांपवि्ों के ललए उप्ुतत है जो प्रौद््ोचगकी में 
पररवतून के कारण अप्रिललत हो जाती हैं 
 

OR 

 

Computerized accounting is a software-based budgeting and accounting system for 

managing expenses, payment processing, budgeting, and reporting. 

 

1. Automation – It is important to use something other than pen and paper to ensure that 

all calculations are correct and accurate. The systems we provide also automatically take 

care of all the processes so that invoices can be created and manual work can be taken 

care of efficiently. 
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2. Data Access – The software is easy to use and has data files whenever you need them. 

You no longer have to search through endless piles of paper and files to find a certain 

date, data file or piece of information that provides easy access because they are all there 

for you at the click of a button. 

 

3. Accuracy – An accounting system is designed to be completely accurate down to the 

last detail. Although your math skills may be 10/10, using a computerized system to do 

the calculations for you automatically as you submit the data speeds up the entire process. 

 

It is always safe. Once since also performs addition, subtraction and calculations. 

 

कम्प््मटरीकृत लेखाांकन खिू, भुगतान प्रसांस्करण, िजट और ररपोदटिंग के प्रिांधन के ललए 
एक सॉफ्टवे्र-आधाररत िजट और लेखा प्रणाली है। 
 

1. स्विालन - ्ह सुयनक्श्ित करने के ललए कक सभी गणना सही और सटीक हैं, पेन और 
पेपर के अलावा ककसी अन्् िीज का उप्ोग करना महत्वपमणू है। हमारे द्वारा प्रदान की 
जाने वाली प्रणालल्ाूँ भी स्विाललत रूप से सभी प्रकक्र्ाओां का ध््ान रखती हैं ताकक 
िालान िनाए जा सकें  और मैन््ुअल का कुशलता से ध््ान रखा जा सके।  

 

2. डेटा एतसेस - सॉफ्टवे् र का उप्ोग करना आसान हो जाता है और आपको जरूरत 
पडने पर डेटा फाइलों है। अि आपको एक यनक्श्ित यतचथ, डेटा फाइल ्ा तक आसान 
पहुूँि प्रदान करता जानकारी के टुकडे को खोजने के ललए कागज और फाइलों के अांतहीन 
ढेर के माध््म से खोजने की जरूरत नहीां है त्ोंकक वे सभी आपके ललए एक िटन के 
क्तलक पर हैं। 
 

3. शुद्धता - एक लेखा प्रणाली को अांयतम वववरण तक पमरी तरह से सटीक होने के ललए 
डडजाइन कक्ा ग्ा है। ्द््वप आपका गखणत कौशल 10/10 हो सकता है, आपके ललए 
गणना करने के ललए कम्प््मटरीकृत प्रणाली का उप्ोग करना आप पमरी प्रकक्र्ा को तेज 
करते हुए डेटा जमा कर देते हैं तो ्ह स्विाललत रूप 

 

हमेशा सुरक्षक्षत होता है। एक िार जि से जोड, घटाव और गणना भी करता है। 
 

 


